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Example

1. The radius of conical tent is 7 meters and its

height is 10 meters. Calculate the length of

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_C0aOQFoBQCgx


canvas used in making the tent if the width of

canvas is 2 m [ Use ]

Watch Video Solution

π =
22

7

2. A oil drum is in the shape of a cylinder

having the following dimensions : diameter is

2 m and heights is 7 m . The painter charges

Rs. 3 per  to paint the drum. Find the total

charges to be paid to the painter for 10 drums

?

Watch Video Solution

m
2

https://dl.doubtnut.com/l/_C0aOQFoBQCgx
https://dl.doubtnut.com/l/_6W2c16jVWtl2


3. A sphere , a cylinder and a cone are of the

same radius and same height . Find the ratio

of their curved surface areas.

Watch Video Solution

4. A company wants to manufacture 1000

hemispherical basins from a steel sheet . If the

radius of each basin is 21 cm, find the area of

steel required to manufacture the above

hemispherical basins ?

https://dl.doubtnut.com/l/_6W2c16jVWtl2
https://dl.doubtnut.com/l/_e4hvtZipkTI1
https://dl.doubtnut.com/l/_XughxnrdOvVx


Watch Video Solution

5. A right circular cylinder has base radius 14

cm and height 21 cm. 

Find its area of base (or area of each end)

Watch Video Solution

6. A right circular cylinder has base radius 14

cm and height 21 cm. 

Find its curved surface area.

https://dl.doubtnut.com/l/_XughxnrdOvVx
https://dl.doubtnut.com/l/_3TW8OvZKi3Gp
https://dl.doubtnut.com/l/_Jg9mIiReKb1H


Watch Video Solution

7. A right circular cylinder has base radius 14

cm and height 21 cm. 

Find its total surface area.

Watch Video Solution

8. A right circular cylinder has base radius 14

cm and height 21 cm. 

Find its volume.

Watch Video Solution

https://dl.doubtnut.com/l/_Jg9mIiReKb1H
https://dl.doubtnut.com/l/_1pnBpEoqH820
https://dl.doubtnut.com/l/_zonI5gmJUipi


9. Find the volume and surface area of a

sphere of radius 2.1 cm 

Watch Video Solution

(π = )
22

7

10. Find the volume and the total surface area

of a hemisphere of radius 3.5 cm . 

Watch Video Solution

(π = )
22

7

https://dl.doubtnut.com/l/_zonI5gmJUipi
https://dl.doubtnut.com/l/_8SxQ1jaqpR3g
https://dl.doubtnut.com/l/_bf3U867vR61f
https://dl.doubtnut.com/l/_X825lLKOxeIc


11. A right triangle, whose base and height are

15 cm and 20 cm respectively is made to

revolve about its hypotenuse. Find the volume

and surface area of the double cone so

formed.

Watch Video Solution

12. A wooden toy rocke is in the shape of a

cone mounted on a cylinder, as shown in the

given figure. The height of the entire rocket is

26 cm, while the height of the conical part is 6

https://dl.doubtnut.com/l/_X825lLKOxeIc
https://dl.doubtnut.com/l/_mKoJJyVKn1Ec


cm, the base of the concial protion has a

diameter of 5 cm, while the base diameter

ofthe cylinderical protion is 3 cm. if the concial

portion is tobe painted organe and the

cylinderical portion yellow. Find the area of the

rocke painted with each of these colours. (Take

 

Watch Video Solution

π = 3.14)

https://dl.doubtnut.com/l/_mKoJJyVKn1Ec


13. A solid toy is in the form of a right circular

cylinder with hemispherical shape at one end

and a cone at the other end. Their common

diameter is 4.2 cm and the height of the

cylindrical and conical portions are 12 cm and

7 cm respectively. Find the volume of the solid

toy. (Use )

Watch Video Solution

π =
22

7

https://dl.doubtnut.com/l/_zUYcwx2TOw12


14. A cylindrical container is filled with ice-

cream whose diameter is 12 cm and height is

15 cm . The whole ice cream is distributed to 10

children by filling in equal cones and forming

hemispherical tops. If the height of the conical

portion is twice the diameter of its base. Find

the diameter of the ice cream cone.

Watch Video Solution

https://dl.doubtnut.com/l/_O3m5KkEu39Ic


15. A solid consisting of a right circular cone

standing on a hemisphere , is placed upright

in a right circular cylinder full of water and

touching the bottom. Find the volume of

water left in the cylinder , given that the

radius of the cylinder is 3 cm and its height is

6 cm The radius of the hemisphere is 2 cm and

the height of the cone is 4 cm . (Take 

).

View Text Solution

π =
22

7

https://dl.doubtnut.com/l/_R7eu1aoeea2P
https://dl.doubtnut.com/l/_rHjoC4M2706w


16. A cylindrical pencil is sharpened to produce

a perfect cone at one end with no over all its

length. The diameter of the pencil is 1 cm and

the length of the conical portion is 2 cm.

Calculate the volume of the peels. Give your

answer correct to two places if it is in decimal

[use ]

Watch Video Solution

π =
355

113

17. A cone of height 24 cm and radius of base 6

cm is made up of modelling clay. A child

https://dl.doubtnut.com/l/_rHjoC4M2706w
https://dl.doubtnut.com/l/_yIbYHoXJGerD


moulds it in the form of a sphere. Find the

radius of the shape.

Watch Video Solution

18. The diameter of the internal and external

surfaces of a hollow hemispherical shell are 6

cm and 10 cm respectively. It is melted and

recast into a solid cylinder of diameter 14 cm .

Find the height of the cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_yIbYHoXJGerD
https://dl.doubtnut.com/l/_Xy04yIAwBLNz
https://dl.doubtnut.com/l/_9Y63QGfAu8if


19. A hemispherical bowl of internal radius 15

cm contains a liquid. The liquid is to be filled

into cylindrical bottles of diameter 5 cm and

height 6 cm How many bottles are necessary

to empty the bowl ?

Watch Video Solution

20. The diameter of a metallic sphere is 6 cm. It

is melted and drawn into a long wire having a

circular cross section of diameter as 0.2 cm .

Find the length of the wire.

https://dl.doubtnut.com/l/_9Y63QGfAu8if
https://dl.doubtnut.com/l/_kaQuF12o3EmJ


Watch Video Solution

21. How many spherical balls can be made out

of a solid cube of lead whose edge measures

44 cm and each ball being 4 cm in diameter.

Watch Video Solution

22. A women selfhelp group (DWACRA) is

supplied a rectangular solid (cuboid shape) of

wax block with dimensions 66 cm , 42 cm, 21

https://dl.doubtnut.com/l/_kaQuF12o3EmJ
https://dl.doubtnut.com/l/_aVf0vbpS4GIY
https://dl.doubtnut.com/l/_wXFEBlH8iUwC


Exercise 10 1

cm , to prepare cylindrical candles each 4.2 cm

in diameter and 2.8 cm of height . Find the

number of candles prepared using this so

solid .

Watch Video Solution

1. A joker's cap is in the form of right circular

cone whose base radius is 7 cm and heights is

https://dl.doubtnut.com/l/_wXFEBlH8iUwC
https://dl.doubtnut.com/l/_vgOvhG1JBZPk


24 cm . Find the area of the sheet required to

make 10 such caps.

Watch Video Solution

2. A sports company was ordered to prepare

100 paper cylinders for packing shuttle cocks.

The requried dimensions of the cylinder are 35

cm length/height and its radius is 7 cm . Find

the required area of thick paper sheet needed

to make 100 cylinders ?

Watch Video Solution

https://dl.doubtnut.com/l/_vgOvhG1JBZPk
https://dl.doubtnut.com/l/_UH4XxC3i67Ww


3. Find the volume of right circular cone with

radius 6 cm and height 7 cm.

Watch Video Solution

4. The lateral surface area of a cylinder is equal

to the curved surface area of cone . If their

bases are the same, find the ratio of the

height of the cylinder to the slant height of

the cone.

Watch Video Solution

https://dl.doubtnut.com/l/_UH4XxC3i67Ww
https://dl.doubtnut.com/l/_p59fSHQ93eU5
https://dl.doubtnut.com/l/_jLFMRcfDmoTK


5. A self help group wants to manufacture

joker's caps of 3 cm. radius and 4 cm height. If

the available paper sheet is 1000  , then

how many caps can be manufactured from

that paper sheet ?

Watch Video Solution

cm
2

6. A cylinder and cone have bases of equal

radii and are of equal heights. Show that their

https://dl.doubtnut.com/l/_jLFMRcfDmoTK
https://dl.doubtnut.com/l/_UETePL0g56tK
https://dl.doubtnut.com/l/_rRLOIYUhSeug


volumes are in the ratio of 3:1

Watch Video Solution

7. The shape of solid iron rod is cylinderical Its

height is 11 cm and base diameter si 7 cm Then

find the total volume of 50 such rods.

Watch Video Solution

8. A heap of rice is in the form of a cone of

diameter 12 cm and height 8 cm . Find its

https://dl.doubtnut.com/l/_rRLOIYUhSeug
https://dl.doubtnut.com/l/_KWblfIL2KT6q
https://dl.doubtnut.com/l/_IwIdJtdRQ4Z2


Exercise 10 2

volume ? How much canvas cloth is required

to cover the heap ? (Use )

Watch Video Solution

π = 3.14

9. The curved surface area of a cone is 4070

 and its diameter is 70 cm . What is its

slant height ?

Watch Video Solution

cm
2

https://dl.doubtnut.com/l/_IwIdJtdRQ4Z2
https://dl.doubtnut.com/l/_GCf3FTP0hv0G
https://dl.doubtnut.com/l/_ARq03eSvHsTT


1. A toy is in form of a cone mounted on a

hemisphere on the same diameter . The

diameter of the base and the height of the

cone are 6 cm and 4 cm respectively.

Determine the surface area of the toy . [use

]

Watch Video Solution

π = 3.14

2. A solid is in the form of a right circular with

a hemisphere at one end and a cone at the

other end. The radius of the common base is 8

https://dl.doubtnut.com/l/_ARq03eSvHsTT
https://dl.doubtnut.com/l/_yIviSDweQUdT


cm and the heights of the cylindrical and

conical portions are 10 cm and 6 cm

respectivly. Find the total surface area of the

solid [use ]

Watch Video Solution

π = 3.14

3. A medicine capsule is in the shape of a

cylinder with two hemispheres stuck to each

of its ends. The length of the capsule is 14 mm

and the thickness is 5 mm. Find its surface

https://dl.doubtnut.com/l/_yIviSDweQUdT
https://dl.doubtnut.com/l/_UOy7SnNv09k3


area. 

Watch Video Solution

4. Two cubes each of volume  are joined

end to end together. Find the surface area of

the resulting cuboid.

Watch Video Solution

64cm
3

https://dl.doubtnut.com/l/_UOy7SnNv09k3
https://dl.doubtnut.com/l/_Pa45sBX8sfEf
https://dl.doubtnut.com/l/_aUIGVn7AG8dX


5. A storage tank consists of a circular cylinder

with a hemisphere stuck on either end. If the

external diameter of the cylinder be 1.4 cm and

its length be 8 m. Find the cost of painting it

on the outside at rite of Rs. 20per .

View Text Solution

m
2

6. A sphere , a cylinder and a cone have the

same radius and same height. Find the ratio of

their volumes. 

https://dl.doubtnut.com/l/_aUIGVn7AG8dX
https://dl.doubtnut.com/l/_gRjBRb10fvVv


[Hint : Diameter of the sphere is equal to the

heights of the cylinder and the cone]

Watch Video Solution

7. A hemispherical depression is cut out from

one face of a cubical wooden block such that

the diameter of the hemisphere is equal to the

edge of the cube. Determine the surface area

of the remaining solid. 

Watch Video Solution

https://dl.doubtnut.com/l/_gRjBRb10fvVv
https://dl.doubtnut.com/l/_mkgOy7GEcMwY


Exercise 10 3

8. A wooden article was made by scooping out

a hemisphere from each end of a solid

cylinder. As shown in the given figure. If the

height of the cylinder is 10 cm, and its base is

of radius 3.5 cm find the total surface area of

the article. 

Watch Video Solution

https://dl.doubtnut.com/l/_mkgOy7GEcMwY
https://dl.doubtnut.com/l/_z9IB0nZPW5Jo


1. A iron pillar consists of a cylindrical portion

of 2.8 m height and 20 cm in diameter and a

cone of 42 cm height sumounting it. Find the

weight of the pillar if 1  of iron weights 7.5

g.

Watch Video Solution

cm
3

2. A toy is made in the form of hemisphere

sumounted by a right cone whose circular

base is joined with the plane surface of the

https://dl.doubtnut.com/l/_gMcWv2kf4290
https://dl.doubtnut.com/l/_O6TJOPE8BG6I


hemisphere . The radius of the base of the

cone is 7 cm and its volume is  of the

hemisphere . Calculate the height of the cone

and the surface area of the toy correct to 2

places of decimal (Take )

Watch Video Solution

3

2

π = 3
1

7

3. Find the volume of the largest right circular

cone that can be cut out of a cube whose edge

is 7 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_O6TJOPE8BG6I
https://dl.doubtnut.com/l/_gWdAzUzLiWlq


4. A cylinderical mug of radius 5 cm and height

9.8 cm is full of water. A solid in the form of

right circular cone mounted on a hemisphere

is immersed into the mug. The radius of the

hemisphere is 3.5 cm ad height of conical part

5 cm . Find the volume of water left in the tub

(Take )

Watch Video Solution

π =
22

7

https://dl.doubtnut.com/l/_gWdAzUzLiWlq
https://dl.doubtnut.com/l/_laRwNfLxqtfI


5. In the adjacent figure, the height of a solid

cylinder is 10 cm and diameters is 7 cm . Two

equal conical holes of radius 3 cm and height

4 cm are cut off as shown the figure. Find the

volume of the remaining solid. 

h id l i

https://dl.doubtnut.com/l/_OHZfxtKLKx8X


Watch Video Solution

6. Spherical marbles of diameter 1.4 cm are

dropped into a cylindrical beaker of diameter 7

cm,which contains some water. Find the

number marbles that should be dropped in to

the beaker , so that water level rises by 5.6 cm.

Watch Video Solution

7. A pen stand is made of wood in the shape of

cuboid with three conical depressions to hold

https://dl.doubtnut.com/l/_OHZfxtKLKx8X
https://dl.doubtnut.com/l/_a0RuLDSzQCje
https://dl.doubtnut.com/l/_4vvvGKckOAyy


Exercise 10 4

the pens. The dimensions of the cuboid are 15

cm by 10 cm by 3.5 cm. The radius of each of

the depression is 0.5 cm and the depth is 1.4

cm n the entire stand. 

Watch Video Solution

https://dl.doubtnut.com/l/_4vvvGKckOAyy


1. A metallic sphere of radius 4.2 cm is melted

and recast into the shape of a cylinder of

radius 6 cm. find the height of the cylinder.

Watch Video Solution

2. Metallic spheres of radii 6cm,8cm and 10cm

respectively, are melted to form a single solid

sphere. Find the radius of the resulting

sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_c2KHBts7GWw8
https://dl.doubtnut.com/l/_uMR1mjV5oD6e


3. A 20m deep well of diameter 7 m is dug and

the earth got by digging is evenly spread out

to form a rectangular platform of base 22 m

 14 m. Find the height of the platform.

Watch Video Solution

×

4. A well of diameter 14 m is dug 15 m deep.

The earth taken out of it has been spread

evenly to form circular embankment all around

https://dl.doubtnut.com/l/_uMR1mjV5oD6e
https://dl.doubtnut.com/l/_Kki6N6gez9y8
https://dl.doubtnut.com/l/_pzKcfSUwVXPm


the wall of width 7 m. Find the height of the

embankment.

Watch Video Solution

5. A container shpaed like a right circular

cylinder having diameter 12 cm and height 15

cm is full of ice creqa. The ice cream is to be

filled into cones of height 12 cm and diameter

6 cm, having a hemispherical shape on the top.

Find the number of such cones which can be

filled with ice cream.

https://dl.doubtnut.com/l/_pzKcfSUwVXPm
https://dl.doubtnut.com/l/_PTpwKgA3Okhj


Watch Video Solution

6. How many silver coins, 1.75 cm in diameter

and thickness 2 mm, need to be melted to

form a cuboid of dimensions

?

Watch Video Solution

5.5cm × 10cm × 3.5cm

7. A vessel is in the form of an inverted cone.

Its height is 8 cm and radius of its top, which

is open, is 5 cm. It is filled with water upto the

https://dl.doubtnut.com/l/_PTpwKgA3Okhj
https://dl.doubtnut.com/l/_eotKRL3Fj5nH
https://dl.doubtnut.com/l/_gc1W9hpC4gfB


brim. When lead shots, each of which is a

sphere of radius 0.5 cm are dropped into the

vessel, one fourth of the water flows out. Find

the number of lead shots dropped in the

vessel.

Watch Video Solution

8. A solid metallic sphere of diameter 28 cm is

melted and recast into a number of smaller

cones, each of diameter  cm and height

3cm. Find the number of cones so formed.

4
2

3

https://dl.doubtnut.com/l/_gc1W9hpC4gfB
https://dl.doubtnut.com/l/_HOi0tHy47hiV


Optional Exercise

Watch Video Solution

1. A golf ball has diameter equal to 4.1 cm. Its

surface has 150 dimples each of radius 2 mm.

Calculate total surface area which is exposed

to the surroundings. (Assume that the dimples

are all hemispherical) 

Watch Video Solution

[π = ]
22

7

https://dl.doubtnut.com/l/_HOi0tHy47hiV
https://dl.doubtnut.com/l/_oiEoDxHoDbiT
https://dl.doubtnut.com/l/_LxsH30fzVoet


2. A cylinder of radius 12 cm contains water to

a depth of 20 cm. When a spherical iron ball is

dropped in to the cylinder, the level of water is

raised by 6.75 cm. Find the radius of the ball.

Watch Video Solution

[π = ]
22

7

3. A solid toy is in the form of a right circular

cylinder with a hemispherical shape at one

end and a cone at the other end. Their

common diameter is 4.2 cm. and heights of

https://dl.doubtnut.com/l/_LxsH30fzVoet
https://dl.doubtnut.com/l/_84MIlEAMVj2t


the cylindrical and concial portion are 12 cm.

and 7 cm. respectively. Find the volume of the

solid toy. 

Watch Video Solution

[π = ]
22

7

4. Three metal cubes with edges 15 cm, 12 cm

and 9 cm, respectively are melted together

and formed into a single cube. Find the

diagonal of this cube.

Watch Video Solution

https://dl.doubtnut.com/l/_84MIlEAMVj2t
https://dl.doubtnut.com/l/_F2FvrA4sioxL
https://dl.doubtnut.com/l/_RnPskNUJBVUe


5. A hemispherical bowl of internal diameter

36 cm. contains a liquid. This liquid is to be

filled in cylindrical bottles of radius 3 cm and

height 6 cm. How many bottles are required to

empty the bowl?

Watch Video Solution

https://dl.doubtnut.com/l/_RnPskNUJBVUe

